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2.3 HydLaOODOOO 4

(program) P = (MS,DS)
(moduleset) MS =M OO0ODO0O0O0OOOOOOOOO
(definitions) DS »=00000000000 DOOO
(definition) MsC
(constraint) C:=A|CANC|G=C|OC |3JzC
(guard) G:=A|GANG
(atomic constraint) A = ErelopE
(expression) E:=0000 |FE | E-

021 HydLaOOOOO

INIT <=> ht=10 /\ v=0.

FALL <=> [J(ht’=v /\ v’=-10).
BOUNCE <=> [](ht- =0 => v=-(4/5)*v-).
INIT, (FALL << BOUNCE).
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31 HydLaOOOOOOOOOOODODOOOOOODDO 7

Input: HydLaOOOOO AP, O0000OO0ODOODOOOO MaxT
MS := TopologicalSort(Solve CH(HP))
T:=0; S:=true
while T' <¢ MaxT do
for M € MS do
(SS, MSimp) := PP(S, M, MS, T)
while [SS| > 1 do
S := GetElement(SS)
(SS, MStmp) := PP(S, M, MS, T)
end while
if |SS| =1 then
S := GetElement(SS); MS:= MSimp
goto PPEnd
end if
end for
break // 00000000000 OOOO
PPEnd:
for M € MS do
(SS, Timp, MSimyp) = IP(S, M, MS, T, MazT)
while [SS| > 1 do
S := GetElement(SS)
(SS, Ttmp, MStmp) =
IP(S, M, MS, T, MazT)
end while
if |SS| =1 then
S := GetElement(SS); MS:= MSimyp
T:= Ttmp
goto IPEnd
end if
end for
break // 00000000000 OOOO
IPEnd:
end while
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31 HydLaOOOOOOOOOOODODOOOOOODDO 8

000 SO00o0ooooooo0 MOODODOOOOOOOOOOOO MSO OOOO
ooog T
O000oooo sSsSooooooooooooooooog MS

Input: 00
goood
Output: O
if T >0 then
M = EliminateNotAlways(M)
end if
(SS, -, -, MS) := CalculateClosure(S, M, MS,
CheckConsistencyPP)
return (5SS, MS)

032 pPOODOOOOO

00 MOODOOoDOOooooooo MSooo
00000 MaxT
EndTODOOODODOOOOODODOOODODO MS

Input: 00000 SOO0OOOOOOOOO
00o0oooodoonD Toooooood
Output: 00000000 SSOIPOOOO
M = EliminateNotAlways(M )
Moy := MazModule( MS)
(SS,A_, Ay, MS) := CalculateClosure(S, M,
MS, CheckConsistencylP)
if |SS| # 1 then
return (5SS, MaxT, MS)
end if
S¢ := SolveDifferential Equation( GetElement(SS))
(MinT, SS) := CompareMinTime(
{FindMinTime(S: A\ g)|(g = c) € A_}
U {FindMinTime(S: AN —g)|(g = ¢) € AL}
U {FindMinTime(S; AN M_)|M_ € (Mau \ M)}
U {FindMinTime(S; N ~My)|My € M}
U{(MazT — T,true)})
if |SS| > 1 then
return (SS, MaxT, MS)
end if
S = SubstituteMinTime(Sy, MinT)
return ({S}, MinT + T, MS)
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31 HydLaOOOOOOOOOOODODOOOOOODDO 9

Input: 00000 SOO00COO0O0ODOOCO MOOOOOOOOOOOOOOO MSOOO
000000 CheckConsistency(S)

Output: 00000000 SSO0OD0OCOO0OODOOOOOOO A_OODOOOOOOOOOOO
0 A,0000O0oooooooooooog MS
A_=0; Ar:=0
repeat

S := CollectTell(M,S)
if =CheckConsistency(S) then
return (0,0,0, MS)
end if
A_:=A_ U CollectAsk(M)
Ezpanded := false
for (9 =c¢) € A_ do
(Strue, Staise) := ((S A g), (S A —g))
if CheckConsistency(Strue)
A CheckConsistency(Staise) then
return ({Strue, Sfaise}, A—, A, MS)
end if
if CheckConsistency(Strue) then
M := DeleteGuard(M, (g = c))
if CheckAlways(c) then

{DeleteGuard(M;, (g9 = ¢))|M; € MS}
end if
A=A \{g=c}; Ay =A, U{g=¢c}
Expanded := true
end if
end for
until —Ezpanded
return ({S},A_, A4, MS)

0 3.4 CalculateClosure D0 DO D0OOO0O
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31 HydLaOOOOOOOOOOODODOOOOOODDO 10

CheckConsistencyPP(S){
return 3(5)

CheckConsistencyIP (S){
St := SolveDifferential Equation(.S)
return(Inf{t | 3\.(S: A (t > 0))} = 0)
}

O 3.5 CheckConsistency

GetElement 0000000000000 0O0O0O0100000DOOOCOCOODOOOO
ggoboobooooooo

SSO0000 100000000000 0000DO0O000D0DDOODOO00OODOO
goobooood

3.1.2 CalculateClosure

PP O IP O CalculateClosure (0 3.4) 0000000000000 0OOOOOOO
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3.1.3 CheckConsistency

CalculateClosure D OO0 D OO0 SOO0O0OO0OODOOO PPOO CheckConsisten-
cyPPOIP 00O CheckConsistencylP (O 3.5)000000003(S)0 SO000000
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000 CheckConsistencylP DD D0 D000 SOO00O00O00O0QO SolveDifferential F-
quatton 00000000 DOODO¢tODO0OODODOOODO S;00000000 IPOOO
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oooooooooot=0000000 S, 0000000
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3.1.5 FindMinTime O CompareMinTime
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3.2 00 12

A <=> x=0.

B <=> [](y=1).

C <=> [Nx’=1 /\ (x>3 => y=2)).

A, (B << Q).

036 0000000000000 OOOOOOO0

INIT <=> x=0 /\ y=0.

CON <=> [J(y’=0).

CROSS <=> []1(x=5 /\ y=2).

INC <=> [1(x’=1).

INIT, (CON << (CROSS << INC)).

037 0D00000OO0O0O0OODOO0OOOOOOOO0

INIT <=> 9<ht /\ ht<i11 /\ v=10.
FALL <=> [](ht’=v /\ v’=-10).
ROOF <=> [](ht- =15 => v=-(4/5)*v-).
BOUNCE <=> [](ht- = => v=-(4/5)*v-).

INIT, (FALL << (ROOF, BOUNCE)).
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INIT(q,q0,v,v0) <=> gq=q0 /\ v=vO.
CONT(q,v) <=> [1(q’=v /\ v’=0).
COLLISION(q1,v1,q2,v2)
<=> [](ql- =q2- => vi=v2- /\ v2=vi-).

EPS <=> eps>0.
EPS,INIT(qa,-4,va,5),
INIT(gb,1,vb,0),INIT(qc,1l+eps,vc,0),
(CONT(qga,va) ,CONT(gb,vb) ,CONT(qc,vc))
<<(COLLISION(qga,va,gb,vb) /\

COLLISION(gb,vb,qc,vc)).
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Input: HydLaOOOOO HP
Output: 000000000000 HA

1: {MSS, guards} = prepare( HP);

2: {variable_map, MS, positive_asks} := simulate( PP,null, MSS);

3: store{result_store,PPl, null, MS, positive_asks};

4: {wariable-map, MS, positive_asks} := simulate(IP,variable-map, MSS);
5: store{result_store,IP1, PP1, MS, positive_asks};

6: {variable_map} := analyze(variable-map, guards);

7: push({variable_-map}, stack);

8: while not Empty(stack) do

9:  wariable_map:= pop(stack);

10:  {wariable-map, MS, positive_asks} := simulate( PP,variable-map,MSS);
11:  store{result_store,PPm, IPl, MS, positive_asks};

12:  {wariable-map, MS, positive_asks} := simulate(IP,variable_map,MSS);
13:  store{result_store,IPn, PPm, MS, positive_asks};

14:  if isStored(ms, pa,rs) then

15: {variableemap} := analyze(variable_map, guards);

16: push({variable_-map}, stack);

17 end if

18: end while

19: HA := convert(result_store);
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